IS 99S

nyss|Yy Jejiw

d

dnyuonew.oyur eaiuyos)

dny Jo spuieg-ny 1.y
WN1HY33g//33dep ullleq-nyl|sqe)//

ap°ul1seg-Ny'140]00//

V L o Y M C
http://farbe.li.tu-berlin.de/BEE4/BEE4LONA.TXT /.PS; only vector graphic VG; start output
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WCGadatargb*, XYZxy, and LabC*h,y, in the CIELAB-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

WCGadatargb*, XYZxy, and LabC*hgp, in the CIELAB-colour space T

Tristimulus values of black and whim,:o,%,YW=88,6

rgby Ly &y by Chhg Nop *
R310055 112 95 14740 S ’°\~b

WCGadatargb*, XYZxy, and LabC*h,y, in the CIELAB-colour space

Tristimulus values of black and whitéy,=40,3 Yn=88,6 Ys=88,6.

WCGadatargb*, XYZxy, and LabC*hgy, in the CIELAB-colour spacz-,\
Tristimulus values of black and whitéy,=40,3 Yywn=88,6, ¥ya=88,6.
rgby Ly @y by Chog 1h7ab,d b*

CIEXYZ data LabC*h,, data s e Tane — ~ R CIEXYZ data LabC*h,, data 5«:1?8;‘7‘ :“1*0 ‘1‘3 g -

gbt Xy Vg 4 X Ya Ly ay b Cibd  Nana G:01051 _165112 1991K L0 T gbt Xy Vg 4 X Ya Ly ay b Cibd  hang GZOlOBa _5930 67 152
Ry [100 |56,43 23,27 0,00 0,708 0,291 5534 112,69 9542 147466 C401185-104-17 105189 Ry (100 |69,07 53,00 4390 0,708 0,291 77,87 4489 1411 47,09 C401190 44 -9 45 191
Yq [110(69,24 83,34 248 0446 0537 93,16 -2064 13152 138 5{’28123 fis’_lslé’ggggi Lso Yq [110|76,05 85,73 45,25 0,446 0537 9419 -10,80 40,75 42,184 zdggi;; éi :gg gg gg}t
Gy [010 (12,81 60,07 2,48 0169 0,797 81,87 -165,52112,06 199186 N:OOOO 00 0 0 Gy [010 (4530 73,05 4525 0,169 0,797 8847 -59,75 30,88 67,262 N:OOOGQ 000 0
Cq [011(27,77 66,32 9648 0,145 0,348 8515 -104,25-17,67 105188 | (W,111950 0 0 O Cq [011(53,45 76,45 9648 0,145 0,348 9007 -44,49 -9.20 45431 | (W,111950 0 0 O a*
By [001 (14,96 525 94,00 0,130 0,045 27,43 82,73 -11553 142306 + By [001 (46,47 4318 9513 0,130 0,045 7167 1597 -40,02 43,91
Mg (101 (71,39 2852 94,00 0,368 0,147 60,35 12537 -58,77 13884 150 Mg [101 (77,22 5586 9513 0,368 0,147 7953 54,77 -26,47 60,834
Ny [000{001 001 001 0333 0338 009 002 00l 0,020 Ny [000 (38,32 40,32 43,90 0,333 0,333 69,70 -001 001 00D
W, [111 (84,21 88,60 96,48 0,312 0,329 9541 -0,00 0,00 0,00 2 = 500 [ /X9~ (V1 Yo 1121 W, [111 (84,21 88,60 96,48 0,312 0,329 9541 -0,00 0,00 0,00 2 = 500 [X 1 X9~ (V1 Vo1 (121
N14[0,00 0,01 001 001 0,333 0338 009 002 001 0,02 b* = 200 [(Y / Ype9 ° ~ Z / Zos) "] [2a] N14(0,00 (3832 40,32 43,90 0,333 0,333 69,70 -0,01 001 0,0D b* = 200 [(Y / Ype9 "~ Z / Zose) "] [2a]
W141,13 (95,05 100,00108900,312 0,339 100,00 0,00 000 0,00 Cr=[ar2 +b+ 108 [3a] W141,13 (90,11 94,81 103,250,312 0,349 97,95 000 -0,00 0,00 Cr=[ar2 +b5 108 [3a]
71,4]0,18 [17,11 18,00 19,60 0,312 0,329 49,49 000 0,00 0,00 hys = atan [b* /a* | [4a] 71,4|0,18 |47,64 50,12 54,58 0,312 0,329 76,14 -0,00 000 0,0D hyy = atan [b* /a* | [4a]
BEE40-1N BEE40-2N BEE41-1N BEE41-2N

WCGadatargb*, XYZxy, and L*ABCh 5g in L*ABJND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

WCGadatargb*, XYZxy, and L*ABCh ag in L*ABIND-colour space

Tristimulus values of black and whitégy=0,0, Y,y=88,6
1905 L5 Ay By Giga Masa B

sRGBdatargb*, XYZxy, and LabC*h,y, in the CIELAB-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

WCGadatargb*, XYZxy, and L*ABCh ag in L*ABJND-colour space

Tristimulus values of black and whitéy,=40,3 Yiwn=88,6, Yya=88,6.
1905 L5 Ay By Giga Masa

CIEXYZ data L*ABCh 55 data 5‘112832 926 gi gg 137 CIEXYZ data LabC*h,, data 5‘1128;‘71 451’4‘11121 ig 137
P Y A % Ve M God Meal |6i01081-11657 130153 Py Ye W % Ve s @ P4 Cia Mwa| |gl0108s 6331 70 153
Ry (100 |56,43 23,27 0,00 0,708 0291 5534 90,24 23,27 93,19 Cq01185 -92-2295 193 Ry [100 36,54 18,84 1,71 0,640 0,330 5049 76,92 64,57 10048 C401190 -50 -1251 193
d d
B;00127 26 -8185 287 By00171 14 -44 46 287
Yy |11 24 4 2,4 44 7 16 -26,23 81 ,207 d Yy |11 22 82,20 12,27 0,419 0, 2, -20,7! 7 ,082 d
a 0 (69,24 83,34 2,48 0446 0537 9316 -2623 81,06 8520 W10 160 36 -57 130333 a 068,22 82,20 0419 0505 92,66 -20,70 90,75 93,08 M.10173 63 3170 333
Gy (010 (12,81 60,07 2,48 0,169 0,797 81,87 -116,4857,79 130163 Ng0000 0 0 0 0 Gy (010 (31,68 63,36 10,56 0,300 0,6 83,63 -82,77 79,89 11516 Ng000690 0 0 0
Cq [011 27,77 66,32 96,48 0,145 0,348 85,15 -92,75 -22,27 95,393 Wg111950 0 0 0 A Cq [011 (47,67 69,76 94,78 0,224 0,328 86,87 -46,19 -13,57 48,186 Wg111950 0 0 0
By |001 (1496 525 94,00 0,130 0045 2743 26,22 -81,06 85,287 By |001 (1599 6,40 84,22 0,149 0,060 30,40 76,01 -103,58 128306 t
My |101 (71,39 2852 94,00 0,368 0,147 60,35 116,46 -57,79 13883 00 My |101 (5253 2524 8593 0,320 0,154 57,30 9433 -5842 110698 150
Ng (000|001 001 001 0333 033 009 000 000 0,000 C 50 Ng (000|001 001 001 0333 033 009 002 001 0,020
Wy (111 |84,21 88,60 96,48 0,312 0,329 9541 -0,01 0,00 0,0D A= 250 K/ Xpgs =Y/ Yoss]  [10] M Wg4 (111 |84,21 88,60 96,48 0,312 0,329 9541 -0,00 0,00 0,00 A= 250 K/ Xpgs =Y/ Yoss]  [10]
N14{0,00 (0,01 001 001 0,333 0338 009 000 000 0,000 B =100/ Ypss-Z/Zogs] [2b] Bl N14{0,00 (0,01 001 001 0,333 0338 009 002 001 0,020 B =100/ Ypss-Z/Zogs] [2b]
W1,1,13 (95,05 100,00108,900,312 0,339 100,00 0,00 0,00 0,00 Cpp = [A2+B2]05 (3b] T-100 W141,13 (95,05 100,00108,900,312 0,339 100,00 0,00 0,00 0,00 Cpp = [A2+B2]05 3b] -100
714(0,18 [17,11 18,00 19,60 0,312 0,329 49,49 0,00 000 0,0® hag = atan [B/A] [4b] 714]0,18 [17,11 18,00 19,60 0,312 0,329 49,49 0,00 000 0,0® hag = atan [B/A] [4b]
BEE40-3N BEE40-4N BEE40-7R_T BEE41-4N

WCGadatargb*, XYZxy, and L*ABCh pg; in L*AB1IND-colour spac

b

Tristimulus values of black and whitéy=0,0, Y{4=88,6

WCGadatargb*, XYZxy, and L*ABCh a1 in L*AB1JND-colour spac

'y

Tristimulus values of black and whitég=0,0, Y,y=88,6
1gb% Ly Ay g By g GgraMasra

WCGadatargb*, XYZxy, and L*ABCh pg; in L*AB1IND-colour spac

b

Tristimulus values of black and whitéy,=40,3 Yywn=88.6 Yy4=88,6.

CIEXYZ data L*ABCh 55, data Ra10000 83 20 o7 2@ CIEXYZ data L*ABCh 55, data Re10077 45 13 47 10
rgb* Y, X L h d rgb* Y, X L h d
) X (R 4 Ya d Ad By Geid Masig 6401081 -8162 102142 9l X (R 4 Ya d Ad Bla  Geid Masig Gy01088 -4434 56 142
Ry [100 (56,43 2327 0,00 0,708 0,291 5534 8331 2534 87,08 C401185 -85-24 88 195 Ry [100 (69,07 53,00 4390 0,708 0291 77,87 4539 13,81 47,4% C401190 -46 -13 48 195
Yq |110|69,24 83,34 2,48 0446 0537 9316 208 8827 B88,EB B400127 -2 -8888 268 Y4 |110|76,05 85,73 4525 0446 0537 9419 113 4811 48,8B B400171 -1 -4848 268
Mg10160 81 -62 102322 Mg10179 44 -3455 322
Gy |010 [1281 6007 248 0169 0797 8187 -8123 6293 102122 | |N‘5000 0 0 0 0 Gy |010 (4530 7305 4525 0169 0797 8847 -4426 3430 56082 | |N‘000680 0 O O
Cq [011|27,77 66,32 96,48 0,145 0,348 85,15 -8514 -24,25 88,985 W4l11950 0 0 O Cq [011|53,45 76,45 96,48 0,145 0,348 90,07 -46,40 -13,21 48,285 Wyl11950 0 0 O
By [001 14,96 525 94,00 0,130 0,045 2743 -209 -88,28 88,38 ay=ay,[(x=x%.) /9 + By [001 |46,47 43,18 9513 0,130 0,045 71,67 -1,14 -4810 481258 ap=ay,[(x=x%.) /9 +
Mg [101 |71,39 28,52 94,00 0,368 0,147 60,35 8121 -62,94 102322 by =by[z/y -150 Mgy 101 |77,22 55,86 9513 0,368 0,147 7953 4425 -34,29 55322 by =by[z/y -150
Ng [000 {001 001 001 0333 0338 009 000 000 0,000 am:lifé“; 70'14000 Ny [000 (38,32 40,32 43,90 0,333 0,333 69,70 -0,00 0,00 00D %Ozolifé"; 70'14000
B X.=0,110,B.= 1, » X.=0,110,B.= 1,
Wy [111 (84,21 88,60 96,48 0,312 0,329 9541 -0,00 0,00 0,00 A=256,~8)Y g Wy [111 (84,21 88,60 96,48 0,312 0,329 9541 -0,00 0,00 0,0 A=256, a0V g
N1,[0,00 {001 001 001 0333 0338 009 000 000 0,000 B, =258, (b~ by ) Y [2d] N1,[0,00 38,32 40,32 43,90 0,333 0,333 69,70 -000 0,00 0,0D B, =258, (b - by ) Y [2¢]
W141,13 (95,05 100,00108,900,312 0,339 100,00 0,00 000 0,00 Cpgr = [AZ+B2105 3¢] W141,13 (90,11 94,81 103,250,312 0,339 97,95 000 -0,00 0,00 Cpgr = [AZ+B2105 3¢]
714]0,18 [17,11 18,00 19,60 0,312 0,329 49,49 0,00 0,00 0,00 hapy = atan [B, /A, ] [4c] 214|018 |47,64 50,12 54,58 0,312 0,329 76,14 -0,00 0,00 0,0 hugy = atan [B, /A, ] [4c]
BEE40-5N BEE40-6N BEE41-5N BEE41-6N

WCGadatargb*, XYZxy, and L*ABCh a1 in L*AB1JND-colour space

Tristimulus values of black and whitéy,=40,3 Yiyn=88,6, Yya=88,6.
1gb% Ly Ag By g GgraMasra

WCGadatargb*, XYZxy, and L*ABCh pg, in L*AB2JND-colour spac

D

Tristimulus values of black and whitéy=0,0, Y\y=88,6

WCGadatargb*, XYZxy, and L*ABCh ag> in L*AB2JND-colour spac

'y

Tristimulus values of black and whité=0,0, Y,y=88,6

WCGadatargb*, XYZxy, and L*ABCh sg, in L*AB2JND-colour spac

b

Tristimulus values of black and whitéy,=40,3 Y\wn=88,6 Yyws=88,6.

WCGadatargb*, XYZxy, and L*ABCh ag2 in L*AB2JND-colour space

Tristimulus values of black and whitéy,=40,3 Yyn=88,6, ¥ya=88,6.

190G LG A a Bro Gez.aMasza B 190G LG A Bro Gez.dMasza
T § e I
gbt Xy Y9 4 X Ya Ly Ad Ba  Gead Masad G:01051 “8150 95 148 100 ob* Xs Yo & Xa Ve L Ad Ba  Gead Masad Gd‘,OlOBa Caa27 52 148
Ry [100 (56,43 2327 0,00 0,708 0,291 5534 8331 2027 8578 Cq01185 -85-1987 192 Ry (100 (69,07 53,00 43,90 0,708 0291 77,87 4539 11,05 46,13 Cy401190 -46 -1047 192
Y4 |110 |69,24 83,34 2,48 0446 0537 9316 208 7062 70,8 zddggig ;i :;g;‘; ggg Y4 |110 76,05 85,73 4525 0446 0537 9419 113 3848 38.5B zddgggé ;i :g*; gg ggg
Gy |010 (1281 6007 248 0169 0797 8187 -81,23 5034 95388 | |N‘5000 0 0 0 O Gy |010 (4530 7305 4525 0169 0797 8847 -4426 27,44 52088 | |N‘500680 0 O O
Cq [011(27,77 66,32 96,48 0,145 0,348 8515 -85,14 -19,40 87,382 | [W,111950 0 0 O Cq [011(53,45 76,45 96,48 0,145 0,348 90,07 -46,40 -1057 47,892 | [W,111950 0 0 O
By [001|14,96 525 94,00 0,130 0,046 27,43 -2,09 -70,62 70,658 A =ay[(x=x) /) + By (001 |46,47 43,18 9513 0,130 0,045 71,67 -114 -38,48 38368 A =ay[(x=x) /) +
My |101 (71,39 2852 94,00 0,368 0,147 60,35 81,21 -50,35 955@8 | |P2=Paol2/} 150 My |101 (77,22 5586 95,13 0,368 0,147 79,53 44,25 -27.43 52,828 | |P2=Pal2/Y -150
=1,byy=-04 =1,byy=-04
Ny [000{001 001 001 0333 0338 009 000 000 0,000 0= 1. by =0, Ny (000 (38,32 40,32 43,90 0,333 0,333 69,70 -0,00 0,00 0,00 0= 1. by =0,
¢ X, = 0,110, B, = 0,800 d X, = 0,110, B, = 0,800
Wy (111 (84,21 88,60 96,48 0,312 0,329 9541 -0,00 0,00 0,0® =256y, Y 1) W, (111 (84,21 88,60 96,48 0,312 0,329 9541 -0,00 0,00 0,0® =256y, Y 1)
2= 2, : 2= & .
N1,[0,00 {001 001 001 0333 0338 009 000 000 0,000 B, =258, (b, -b, ) Y [2d] N1,[0,00 38,32 40,32 43,90 0,333 0,333 69,70 -0,00 0,00 0,00 B, =258, (b, -b, ) Y [2d]
W141,13 (95,05 100,00108,900,312 0,339 100,00 0,00 0,00 0,00 Croo = [AZ+B2108 [3d] W141,13 (90,11 94,81 103,250,312 0,339 97,95 000 -0,00 0,00 Cpor =[A2+B2108 [3d]
71,4]0,18 [17,11 18,00 19,60 0,312 0,329 49,49 000 0,00 0,00 hagz = atan [B, /A, | [4d] 71,4]0,18 |47,64 50,12 54,58 0,312 0,329 76,14 -0,00 0,00 0,0 hagz = atan [B, /A, | [4d]
BEE40-7N BEE40-8N BEE41-7N BEE41-8N

TUB-test chart BEE4; Affine colour metric for four colour spaces input:rgb/cmyO (No 1MR)
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WCGadatargb*, XYZ, and LCh 3 reflectionYN=0 & YnNn=40,32,Y\w=88,6, adaptatioi\y;=88,6.
C M Y (o] L Vv
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